B HAS CABATY
ool MEAX HIIZ Hel (Shol: M2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
ESENI; 43,884,858 41,185,889 2,698,969
HZsh TAEETH 43,786,326 40,846,240 2,940,086
ZEFE HIIE Xel 38,686,563 35,198,104 3,488,459
MEHD|I2 Mel2gF 23,450,589 20,990, 113 2,460,476
201 2Bt 55,426 56,101 VAN
01 AtS2teltl 27,540 29,136 21,596
OR&EA MeDI2HMoZ AlBlgesl2d+Y
70,0003 112 »23] 1,540
OEALHE EE=2 M 2503 *20,00001*43 20,000
OHYIZ2 =&28 WALt 38
500,000& *624 3,000
OJI2E A A B8 500,000& 624 3,000
02 224l 27,886 26,965 921
OXt& KA 24,958
— XS XAl 170
SEIHEE) 70,0002 1CH 70
SEIHZE) 100,000& = 1CH 100
— SN RES 860
SEIHEE) 100,000 = 1CH 100
stExH(EZES+=A) 180, 000 »2CH 360
StEXHUE) 400,000 *1CH 400
—28= 4,200
SEHEE) 400,000 = 1CH 400
- SEIHUE) 800,000 = 1CH 800
SEIHZE) 500,000 = 1CH 500
-SEHEZESN) 500,000 *3CH 1,500
- SEXHUE) 1,000,000 = 1CH 1,000
— Sl 13,728
SEIHEE) 1,500 %140 £ »1CH*12& 2,520
- SEXHUE) 800&*100 £ »1CH*12& 960
SEIHIE) 1,700&+100 £ =1CH*12& 2,040
- SIEHEZSSA)
1,500 %180 £ =2CHx12& 6,480
sEHEES=H)
1,200& %120 £ =1CH=128 1,728
—==cldl 6,000
SEHEE) 1,000,000 = 1CH 1,000
- SEIHUE) 1,000,000& = 1CH 1,000
SEIHZE) 1,000,000 = 1CH 1,000
-SEH(EZESA) 1,000, 000 *3CH 3,000
OMgIISE SFHA AIAE FAIHI
2,928,000 2,928
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A RE=E
HH: HAE CABZEY
el "edd mHolE Xel CEREE)
SA B ER(S) - MRAE - BaS Of &r e HIDE
206 =4 873,699 797,505 76,194
01 MZ4l 873,699 797,505 76,194
OZSENAASE NE 873,699
—2eE 741,869
-514 26.42:2+300,0000H 7,926
=104 34.643+4,000,0000K 138,560
<204 54.11&+4,500,0000K 243,495
- 502 129.81&+1,100,0000K 142,791
- 1004 232.332 %900, 0000H 209,097
—THAFZ(204 ) 55.13& 1,000, 0000H 55,130
—=%TH 8,300
=102 210210, 0000H 2,100
=302 3102 %20, 0000H 6,200
—=58 68,400
- 504 1212 %200, 0000HK 24,200
- 100 4 2212200, 0000H 44,200
207 AN 22,000 19,949 2,051
01 H1=9HH| 22,000 19,949 2,051
OHDI=ZXel JI2HE A7 ES4|
22,000,000 22,000
307 glz2told 22,236,822 19,910,299 2,326,523
05 22t E= 22,236,822 19,910,299 2,326,523
OdguIls SR 22,039,005,000& 22,039,055
OMDIZSMESE T AIHBI(SH)
65,500,000 65,500
Oz EHMeIE 2SHI(HET S) 132,267
—dEHII= 16,205%1%6,400& 104,288
—HE S 46,6312 +600= 27,979
308 AXISHHSOIH 262,642 195,259 67,383
05 MXIHHLFSES 262,642 195,259 67,383
OM=2eI2E R8s 158,194
—QMINS AUUEE R
587,000,000 *20.5% 120,335
—=EHEN RE= 37,859,000& 37,859
O=JUMERX 47| gtz
16,3202 *6,400E 104,448
REA X 4,188,826 2,922,254 1,266,572
201 LBty 3,604 6.288 N2,684
01 A2l 1,808 2,768 A960
OADIXIE A RI|=Z XA
7,000 6«2 x12E 1,008
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S HAD
M HIE TAEEXE
&l HEdA HolS HMel (9] &
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OJtz&diIstd AENES LA
400,000& 22 800
02 S22l 1,796 3,520 N1,724
ONZ2Z0Is AR HMe3
40,0003 128 480
ONZEF0IsE MR HHAZH
1,062 %15 £ 80 1,316
203 HRF=&H| 6,000 6,000 0
03 AIMFAARFLH| 6,000 6,000 0
OoMgllzg & HAgR =4 6,000,000 6,000
207 IR 21,100 18,864 2,236
01 A& 21,100 18,864 2,236
OdEHIIE =& - 28 LM daold
b 29| 21,100,000& 21,100
301 B2 A= 13,000 18,560 25,560
10 A2 HIZ2 &S 13,000 18,560 25,560
OBN2LX L2ser (AKX At
500,000 x26% 13,000
307 212+0I M 4,143,922 2,872,542 1,271,380
05 QIZtRE= 4,143,922 2,872,542 1,271,380
O E ARSI 3,112,445 +55H 123 2,054,214
O==2Z A3 AUl 547,6863+300H 122 1,971,670
O=2=Z2 E4¥ Bl 118,038
—HLEE= 11,5132<300& <128 41,447
—LAIIRAZEE 7553300« 122 2,718
—=0d= 19,4403 «50H 128 11,664
—1E2E 1,555,200,0002*7/1,000 10,887
—&HEE 1,555,200,0002& *33/1,000 51,322
405 KhobE=HI 1,200 0 1,200
01 Tt =S SF S 1,200 0 1,200
OJI2230I3Hd AR ZFH 2
1,200,000& = 1CH 1,200
SSotEA 2 31,852 16,200 15,652
201 YEr23H| 31,852 16,200 15,652
01 AtSZelHl 31,852 16,200 15,652
Odetas 2283 XN
50,000 #5000 A+ 128 30,000
O otEal QHHAHERXIE M=
142,450 x 1300 2 1,852
HOIZ2 XM2lAld 228 11,015,296 11,249,057 A233,761
201 LErH23H| 2,526,504 2,351,172 175,332
02 SZ224H| 2,526,504 2,351,172 175,332
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A RE=E
HH: HAE CABZEY
&l HEdA HolS HMel (9] &
SA B ER(S) - MRAE - BaS Of &r e HIDE
OA24d 2g Sit= 2,526,504
—&JIes 106,858,000& x12& 1,282,296
—LNGR = 82,524,000& x12& 990,288
—=Ef= 21,160,000& «12& 253,920
307 212t01& 8,471,792 8,887,885 416,093
05 QIZtRE= 8,471,792 8,887,885 416,093
OAA&=29H| 8,471,792
—HESAZE 28l 473,071,5002 123 5,676,858
—MBTAIE 2&Hl 164,123,5002 «12& 1,969,482
—S4=2F HJISX2AIZ
68,787,666% «12& 825,452
405 KHakH =4 17,000 0 17,000
01 N ESFSHI 17,000 0 17,000
Ox (32 EH) 7 17,000,000 = 1CH 17,000
NENeE =eMA 243t 170,307 492,050 A321,743
SEH0 N2ES 2cliiE 243 102,220 115,940 13,720
201 &er=gll 5,920 11,940 26,020
01 AtR2elH| 4,276 10,276 26,000
OHEZS =& L=H| 3,276,000 3,276
OOtSt=2d0 S &A izl 23
1,000,000 1,000
02 s&=24| 1,644 1,664 A20
OHEZS MiF pgeiz|
1,006 %15 £ =100 1,644
206 =4 96,300 104,000 AT,700
01 M=Hl 96,300 104,000 AT,700
25 HEE 2= I MH 76,500
—ME2E 2= 2I| FY(a=22)
2,300&15,0007K 34,500
—HEZS =HEI| & 40,0002 *100H 4,000
—HANMA, JFUHE S +=HEJ| 2
80,0002 *100H 8,000
—HlYE TR 208 =257
250&%10,0000H* 122 30,000
OHAE=® 288, 74| 19,800
—289(0.7¢) 3,300 3,000 H 9,900
—==HE(404) 330, 000& =304 9,900
Hes J88 28 68,087 376,110 /308,023
201 et 55,000 200,936 A145,936
02 S3=23Hl 55,000 199,036 A144,036
ONgsSHEE A2 Al 55,000
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S HAD

X‘IiH; -Ijiol- C}\|§301_7F_/<\;
&2l ANAWEE =2HAH 243 (&2 & &)
= = AN L=
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
—3t2 &2 &XI(500kg) 15,000, 000& 15,000
—3=2HI0 & MOjEE W
20,000,000& 20,000
—JIEt Ui=& 20,000,000& 20,000
308 AXISMS0IH 13,087 26,174 13,087
05 NXHM2UHFES 13,087 26,174 13,087
O+ MesdEs M2 ez
21,811&+50E+12& 13,087
SAEF HIUIZ =AXcle 28 & Nt 2,684,705 2,793,150 108,445
SAESF HIIE +=H & HMel 2,684,705 2,793,150 A 108,445
206 M= 4l 221,585 228,510 26,925
01 M=l 221,585 228,510 26,925
Osa=FHIIZ2 =H8)] 7 221,585
—XNSHHEX 22 J1(1204)
72,000&*2,4200H 174,240
=38 =A8J1(2510 ) 8,500& %5, 5704 47,345
207 IR 22,000 0 22,000
01 A=l 22,000 0 22,000
OSAESFHIIZE HESEHAA HFESH
22,000, 0009J 22,000
307 2I2+0I M 441,120 2,564,640 A 123,520
05 QIZtRIE= 2,441,120 2,564,640 A 123,520
OSAS2HIIS QA HE +48
76,0003 +88E=+365 2,441,120
CHE DI tel 2,244,751 2,362,936 A 118,185
CHEmoIg =H & HMel 2,244,751 2,362,936 A 118,185
201 LEr2EH| 42,760 43,980 21,220
01 AtSZelt| 18,760 19,980 21,220
OUEHII= eSS HMA
1502 +3, 20000370 = 17,760
ORIZAEEAN HE 258 500,000 221 1,000
02 S22l 24,000 24,000 0
OUEHIIZEMelE AMdRX2el
2,000,000& 122 24,000
206 M=Hl 12,000 12,000 0
01 M=l 12,000 12,000 0
OUEHIIEM2E 2SMHE I
100,000& x10&5+12& 12,000
307 21201 2,117,791 2,187,756 A69,965
05 QIZtRIE= 2,117,791 2,187,756 A69,965
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2A:

AL

S FHe TAIEEXRM
&2l tHEmDIES 2l (et &3
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
OjrlD & 2HE)| HEHDIIS =HREH]
128,579, 1673 128 1,542,951
OUEHIIE Mal& AE2F|
45,645,000& 128 547,740
OHZctAE & HeSs XMl
271,000 x50E 2 & 27,100
405 XHabE SHI 50,000 97,000 247,000
01 MY 2 SH S 50,000 97,000 247,000
OHsds EI| +L 50,000,000& 50,000
802 BtEt=DIE 22,200 22,200 0
03 4SS 22,200 22,200 0
OUEHIIZ iz Zalol TE era=s
10,0002 524 x37 4 S+ 12& 22,200
HY2IFHI(FA0) 98,532 74,572 23,960
ol | 6,360 6,960 2600
el la] 2,160 2,760 2600
101 el24H| 2,160 2,760 2600
03 RIAA2E2 X E s 2,160 2,760 2600
ORFAIIZSZ0I5E =X S|
180,000& x1Hx12& 2,160
=als] 4,200 4,200 0
203 HRF=&H| 4,200 4,200 0
04 PNEBIHRFEYI 4,200 4,200 0
ORNM2EIRFAHI 350,000& *12& 4,200
23| 92,172 67,612 24,560
B2 63,372 38,812 24,560
201 223 63,372 38,812 24,560
01 AtSZeltl 27,372 27,372 0
OfAM2gJI=&HI 24,000
—YEt==H| 50,0003 20+ 12& 12,000
—= 2| 50,0003 20+ 12& 12,000
O=AL| Xz 120,000& x1CH*12& 1,440
OF AR 9| 161,000 x12& 1,932
02 S22l 36,000 11,440 24,560
OHIISXM2ANE nERLRES
10,000,000& *13] 10,000
OHDIZXIAE SENERES
13,000, 000& 23] 26,000
oyl 28,800 28,800 0
202 0ddl 28,800 28,800 0
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S HAD

™ EH: SHXE

(= I (=N}
20 o= 2|

&l

Ofl & 24

HEAY - BES

28,800

O
Oge=&II=0tl 120,000& x20E «12& 28,800
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